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@ Minutes of Flavor per trial

Gum Brands 112131416167 mean _median_
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7. What is theoretical probability? —) WLM'}' 5),,,;;“,/0/

he ratio of favorable outcomes to possible
outcomes

B. the ratio of favorable outcomesto unfavorable
outcomes

C. the ratio of successes to total trials
D. the ratio of successes to failed trials

8. What is experimental probability? —-—?\,JL\Q"' éﬁ

A. the ratio of favorable outcomes to possible
outcomes

B. the ratio of favorable outcomesto unfavorable
outcomes

@he ratio of successes to total trials
D. the ratio of successes to failed trials
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9. Referto the figure below. At the carnival, Willie Winn 'J'Lﬁéxr
needed to land the ball on the shaded area to geta Q'VC[) /j
o

prize. He played the game 60 times and received 24

prizes. What was Willie Winn's experimental _c_:lﬁ/_ = _3 __._._5.;
o . T =
probability and theoretical probability? 00 5 /Q
10. Miho rolls two dmes. Given the sample
. k‘_‘_‘_‘—
space shown beldw,approximately how many times
can Miho expect to roll a sum of eight?
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D.50 51 |52 |53 |54 |55 [56 6 3
61 [62 [63 |64 |65 |66 13,9 = v

____.->(/§0 (A%

11. Alex has a pink shirt, anorange shirt, and a yellow 56
shirt. She also has gray pants and blue jeans. Make
a sample space to help you answer the following
question. If she chooses one shirt and one pair of
pants, what is the probability that her outfit will

include_ an orange shirt@r gray pants? X
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12.In algebra class, 30% of the students are fifteen
,_ —
years old, 60% are fourteenyears old, and 10% are 502) - » 3 -
sixteen years oudents are to be chosenat _—
random to take airexam. How many of the &«

students, chosen at random, would you predict to s 3 x /0 —
be fifteen years old?
o p——

14. The following box-and-whisker plot shows the test
scores from Mr. Nguyen's class. What percentage of
the students scoroints or higl};&k\

o d
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13. Parachutists jump from an airplane and land in the
rectangular field shown. What is the probability that
a parachutist avoids the big oak tree represented by
the circle in the diagram? (Assume that the person
is unable to control where the specific landing point
is within the rectangle.)
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